"
I
| u
H

|

A —— | W————a . wb——— " . 3 “S———

Rotor Pylon Assembil
(Full—size Building ‘F’Ion)

Upper Pylon Ply Sheet (1/327 Ply) {Left & Right)

Cut from 12" 1/8" 0D Bros’é'Tﬁbg_. __' :

(3 Pieces) \//"i — : *“]!
: = e ' 3’_’/ Upper Pylon Fill Biock (1/8" Balsa) (1)

3/32" Music Wire
{Inserted in Brass Tube as Hinge Pin)

1/8" OD Bross Tube

- Lower Pylon Fill Blocks (2)
{1/8" Balsg)

Lower Pylon Ply Sheet (1/32" Ply) (Left & Right)

Lower Pylon Forward Fill Sheet (1/8" Balsa) Lower Pylon Rear Fill Sheet (1/8" Balsa)

’ I

I
I
I
I
I
I
)
I
I
|
|
i
I
I
|

(ézuas fo back side of Lazy Bee

TOP VIEW  (shown 1/2 size)

Rear Malin Gear Support Doubler

"Axle. Boi’)

{Glues to front side of Lozy Bee

Front Main Seor Support Doubler

Axle Box")

PYLON PLANSTER T,

#6 x 3/4" Socket Heod Sheet Metnl Screw

Rotor Bearing Firewall (1/4” Ply)

i (Rotor Bedring can bd mounted within
fth;s range to acquire proper Hesyg Angle)

e P

|
"Jesus Nut” %
- Srecherra J

(No Flex Hinge or Biades Shown)

/— #6-32 x 3/4" Socket Head Cap Screw

#6 Flat Metal Washer
Washer

FRONT VIEW

(Shown 1/2 Size)

Rotor Hearing Spocer

—— Blade _(1 of 3) \?_ I =

\) Blade Root Caps (1/32" Ply) (2 per blade) : )

#6832 Aircraft Lock Nut

Lt
#4 x 3/4" Socket Heod Sheet Metal Screw e .

#2 x 1/2 Sheet
Metal Screws

#2~56 Tufsieel RC Links —-/

N

.

/."

EVU—

Nylon Contrel Horn

#2—58 Threaded Rod

! :
I (Sanded to Pylon Contour) iV

Rotor Bearing Firewall Support Filfet (Left Side) (1/2" x 1/2" Balsa Triangle Stock) l -

i
' " F"IyFI‘—y‘I—;”S;:’—-
GYRO CONVERSION PYLON e |

(Assembied; Left Side and Rear View)
(Shown Full Size)

1/8" Balsa Pylon Fill Sheet

\.

Lower Pylon Support Fillet (Left Side) (1/2" x 1/2" Bolsa Triangle Stock)

Bend Gear to this position for
Hand Launch Familiarization Flights

Forward Pylon Base Cop (3/32" Ply)

Lower Pylon Suppcf*t

e e ey Rear Pyton Base Cap (3/32" Ply)

(Minimum.
Fillet (Left Side) (1/2" x 1/2" Baisa Triangle Stock) ; I

Servo Tray Support (left)
{1/2" Troingle Balsa)

"TiIt" Serve Tray (1/4" Ply)

S

I' -I"_“.. ) ..:.'

Cirrus "CS—-30" Minnie Servo

Gear Bends for ROG Flights

Pylon Base {1/8" Balsa)

(Enlarge Opening if targer Servo is used)

1/4" Ply Servo Tray

|

Rotor Bushing Firewall Supports (1 of 2}

;
I
T
I

Rotor Bushing Firewall Supports (2 of 2)

Lower Pylon Sgpport (1 of 2) Lower Pylon Support (2 of 2)

Sarvo Tréiy
* - Support:

© 7 1/2" x 36" Balsa Triangle Stock

Serve Tray
- Suppert

(1 ot 2)

(2 of 2):

Rotor Turns Coah.te_rm?()i'ockwis_e (os viewed from

[owsneme  aaman  manmis  — e e e —

LEFT SIDE VIEW (Shown 1/2 Size)

Pre—bent Landing Gear {1/8", left side)

!
3.25" Trexler Baloon Wheels
(or. light equivalent)

(Shown 1/2-size in this drawing)

Wheel Collar (1/8%)

e s T ™ SEVES S —

0 3/32" Music ‘Wire Leading Edge Balance Weight

RGToR BLADE |

.' Ply. Root Cap

'_:_::cote or any glassy—surfaced material con be used for covering)

 Leading Edge

Trailing Edge

GYRO BEE Gy
R : Wing.ie'ss,' Lotferc;R{D

\ (1 of 3, Shown Full Size)
) \ | o

Tip Weight Slot Trailing Edge

{Autogyro COnver__S_E_c:_':h for: 'C'lun'c':y.’s LAZY?‘{BEE) |

AUTOGYRO COMPANY. of ARIZONA ||| 15— .25 2—Cycle
3307 West Renee Drive, Phoenix, AZ 85027 - o 4 ChGﬂﬂG],SPOFtRG

Side View | SR
| s ~Weight: 48 oz: -

tnt_e'fh'-et EfM_;_}if:'- gi'romc:;n@g){o__cjigy.net

.
I
1
1
o

Web Site: http: //WWW'.dutOnycS;ré.com T &
Tech Support: (623) 582~9428 o i Rotor D:om@e r

Reflex i 2.000 =

(sanded in)

"GYRO BEE” Conversion Designed by: || Disc Loading: 3.
Steve Tillson ‘ YLt

Scale (Piﬂﬂst@rs)

~ Copyright 1998, Autogyro Co. of AZ  |Il  scqle (Completed

— nad e i — o -
N S FURT IS DU ST

FHANG ANGLE” Gouge 1

(Gut oist, rotate 90 degrees clockwise)

. Bottom of "Lazy Bee” Fuselage i
Tail of Gyro \ 1 9 -

- Level Line

Nose of Gyro




